C.20||U1M.506'3021 '03

Kit 3021

FIAT Doblo, 3-dr Van, 00-03, 04-05, 06-09

FIAT Doblo, 4-dr Van, 00-03, 04-05, 06-09

FIAT Doblo, 5-dr Van, 00-03, 04-05, 06-09

FIAT Doblo Maxi, 4-dr Van, 08-09

FORD Tourneo Connect, 5-dr Bus, 03—

FORD Transit Connect, 4-dr Van, 03—

NISSAN Kubistar, 5-dr Van, 04—

RENAULT Kangoo, 5-dr Van, 98-02, 03-07, 08—
RENAULT Kangoo Maxi, 5-dr Van, 10—

This Kit is only for vehicles with fixpoint mounting.

®
ISO 11154-E I H“M



S S 2@::;
r N _
T h) Max.
6 kg /13 Ibs 165 Ibs
SRS Max.
’ ) 100k
Y — _1O0k9
T h) Max.
9 kg /20 Ibs 220 Ibs

-
=
H
R

it
=+

IS
I

Kit_XXXX ﬁ

80 km/h 130 km/h
50 Mph 80 Mph

40 km/h ".~
25 Mph \
B
ﬂ km/h U
Mph

\EEE

\EAET

31464

M6x30 mm Ei x4

50603

M8x40 mmE] x 4

50786

= x4

50229
x1

6 mm

506-3021-03




@
T o] .
16 mm %
x4 x8 x1
x1
x4 &

@ ‘Gmig % M)
x4 x8 x1 x4

x4

D el
x4 x8 x1 %x4

x4
RH

x4

2] %
x8 x1

506-3021-03 3



4 506-3021-03



506-3021-03



= 753/460R

O OO
o O O

o s

FIN
EST

LT
PL
RU

cz
SK
SLO

Only a few turns

Nur wenige Umdrehungen
Quelques tours uniquement
Slechts enkele slagen
Solo qualche giro

Sélo algunas vueltas
Nocbdes bésicas

Endast nagra varv

Vain muutama kierros
Ainult méni pdore

Tikai dazi apgriezieni

Tik keli pasukimai
Wystarczy kilka obrotow
[ocTaToOMHO HECKOMbKMX
obopoToB

Pouze nékolik otacek

Len niekolko otaok

Le nekaj obratov

HR
HU
GR
TR
3
LT
B
‘lVI!I

Samo nekoliko okreta
Csak néhany forditas
Mévo peplkég oTpodé
Yalniz birkag kez gevirm
RENA G

ek Likis

ﬁlﬁliﬁd)«ﬁ. )
wywiaslufisay

506-3021-03



506-3021-03



M6x30 mm E{ X 4 M8x40mm§X4 = x4 ﬁ M
6 mm

5mm

_—

C

4

' =
Wr——

B  FIAT Doblo, 3-dr Van, 00-03, 04-05, 06-09 FORD Tourneo Connect, 5-dr Bus, 03—
FIAT Doblo, 4-dr Van, 00-03, 04-05, 06-09 FORD Transit Connect, 4-dr Van, 03—
FIAT Doblo, 5-dr Van, 00-03, 04-05, 06-09 NISSAN Kubistar, 5-dr Van, 04—

FIAT Doblo Maxi, 4-dr Van, 08-09 RENAULT Kangoo, 5-dr Van, 98-02, 03-07, 08—

FP=———— RENAULT Kangoo Maxi, 5-dr Van, 10-

460R r---=n

: 753 : 1 460R |

4 | 753 1

a8 | 460

1 1

\ ‘ \ | ‘ |

L o 1 1

b oo oo oo o d

Cc FIAT FORD D
NISSAN

RENAULT
x1 x1
5mm 6 mm

506-3021-03



M8x40 mmg X2 %

______

RENAULT Kangoo Maxi, 5-dr Van, 10—

506-3021-03



753 X4
&,
/e) x1
i)
460/460R
% x4
N
751 x4
x4
x1

506-3021-03

10






THULE

544 Gp (x4)
ONE | 596 @ ()
KEY 588 Wy (x8)

NA 510 %Gp (x10)

SYSTEM ,fsl,’,,'} 452 G (x12)

wWWwW » v Thule Sweden AB, Box 69, 330 33 Hillerstorp, SWEDEN r info@thule.com rm
NA » u Thule Inc., 42 Silvermine Road, Seymour, Connecticut 06483, USA @ customer.service@thule.com n wvsvgetlzsu(;::&:)n;




